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Building the Perfect Graph

Step through the following pages to
see an example of a graph done
well. Each page includes important
items that will be graded.
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Chose scales appropriately:

Note on this graph each
square on the y-axis equals
1 cm (not 3, 7.5, etc).

Each square on the x-axis
equals 50 g (not 25, 33.3,
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Plot each data
point with a
small dot and a
“point protector”
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Draw the line (or curve) |

of best fit. This line
goes “through the
middle” of the data,
showing the underlying
pattern and allowing for

error (or scattering). m= z;%
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is the same as that
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given.
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Put the resulting equation in a form that
makes clear the units involved and the

‘| meaning of each variable.

(Don’t write only this: y=0.0317x + 5.78)

KA ,
Yo

V0
N \
i = KO, 0377 E2\M + (5.'?6’ em)
ARaLARA)

g ' /‘é = ({”ﬁ”ﬂ |
| M = masc }

0 SR R R

0 200 400 @00 g00 {000

Mass /j}




ANEEN Tl T ! . A
| | _ 4] | . 1
_ _, BN
T . | |
ot Ty [ R o "
I ; CEuEE s
™ i . S
- X O L B ael MR € a~ 3 ! o = S |
ROTE SR LTS 2 | e S ]
< sl Ll W g | o ~ L _
L4 N X R0 %, : , A el et
N ol LW LIl Ll e 11 Rel bt | OIS DL L SERRE
i < 1 N - O s O IO = {12 |- _
o S > AL Ly 18 |
MR < I P I M LIRSS {5 |
| £ 8 % = |s 5o = el | |
T RN AN
i L el el T 11T 1 I el sl ||
* N RN M| €] | i 51 Y i i = S
1 e — e AL . -...,, ‘
. : ™ AR N IR
al -8 1 | | | | . _ e |
RS = N | sl &1
el JT L L] ™ | i I T R
e R _ - =02 ._
umﬁﬁm | | T
s T T | | I~y {
- ‘\MN»mb!nlxlnI \ ~ ) e
LY 5 S I | CLds ]
B : I & » |
= = IM\ v = =
* & |
A5y = — |9 -
e & q ] -M.wl_ = _ ©
| |
(wp)| yrévayg
il M EEEEE
{ | |
| M| i ) m x o y “
| ! 1 i |




This graph was created using Desmos graphing calculator. The title and the equation box were
added using Google Docs. Both of these applications are free online tools that work in a
browser window. The finished product was exported as a pdf file that can be read on any
device. This demonstrates that it is possible to produce a high quality scientific graph using
readily available resources. This graph meets all criteria described previously.
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